
Scrivi qui sotto 
varore resistenza 
desiderato > 0,1 e 
< di 1000 Ohm

Valore commerciale 
R1 in Ohm da usare in 
parallelo a R2

valore commerciale 
di R2 in Ohm

Valore risultante 
reale in Ohm

17 R1= 18 R2= 330 Rp= 17,068

 



R nuova R1 Rp Rpcom
17 18 306,01  Rp = (Rx x R1com.) : (R1com. - Rx)

330 Rcom=commerciale

1,7 10 3,0601 100  
17,06896552

18

valori commerciali trova com. Rp
1        

1,2       
1,5       
1,8 1,8 1,8 1,8    
2,2 2,2      
2,7 2,7      
3,3 3,3   3,3 3,3 3,3
3,9 3,9   3,9   
4,7 4,7   4,7   
5,6 5,6   5,6   
6,8 6,8   6,8   
8,2 8,2   8,2   
10 10   10   
12 12   
15

 


